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1 The clause in an insurance policy that points out the occasions when the insurance company will not pay out on the policy is known as:

(a) A third party clause


(b) An excess clause

(c) An exclusion clause


(d) An indemnity clause
2 This type of insurance covers a producer against claims from customers injured by their products:

(a) Employers liability

(b) Product liability

(c) Public liability

(d) Fidelity Guarantee

3 The person who calculates the degree of risk involved and sets the premium is:

(a) The actuary


(b) The assessor


(c) The underwriter


(d) The proposer 
4 A proposal form is:


(a) A form filled out by a person joining the local credit union


(b) An application form filled out by a person applying for insurance


(c) A form filled out by a man who is about to become engaged to his girlfriend


(d) A form filled out by a the proposer of a motion at a meeting

5 A person or company that sells insurance policies on behalf of one insurance company only is known as:

(a) An insurance broker


(b) An insurance agent


(c) A general insurance company


(d) An insurance representative

6 An increase in the standard premium due to an extra risk involved in a particular policy is known as:

(a) A penalty clause


(b) A surcharge


(c) A discount


(d) A loading

7 The price paid for insurance cover is called:

(a) The premier


(b) The premium 

(c) The previous


(d) The primer
8 A reduction in the standard premium if the insured person has not made a claim against the policy for a given period of time is known as: 


(a) A no claims bonus 

(b) A loyalty bonus


(c) A discount bonus

(d) A goodwill discount 

9 The principle of insurance that means you can only insure an item which will be a loss to you if damaged is called:

(a) Indemnity

(b) Insurable Interest

(c) Subrogation

(d) Contribution

10 This type of insurance protects an employer against claims from workers injured in the workplace:

(a) Employers liability

(b) Product liability

(c) Public liability

(d) Fidelity Guarantee

11 Which type of motor insurance is mandatory by law:

(a) Fully Comprehensive

(b) Third party 

(c) Third party fire and theft

(d) All risks cover

12 Calculate the compensation pay-out using the average clause for the following scenario: House value €250000: Insured for €200000: Damages €30000
	Workings & Answer:




13 What do the letters USC stand for in relation to insurance:

(a) Universal Stamp Contribution

(b) Universal Social Contribution

(c) Universal Society Charge

(d) Universal Social Company

14 This type of insurance covers a business against fraud or theft by employees

(a) Public liability

(b) Fidelity Guarantee

(c) Product Liability

(d) Income Protection

15 A condition included in insurance policies that limits the value of a claim if you are under-insured is known as:

(a) The mean clause

(b) The multiplier clause

(c) The average clause

(d) The subtraction clause

16 An insurance policy that covers loss of profit arising from the occurrence of an insurable risk is known as: 


(a) Professional indemnity insurance


(b) Public liability insurance


(c) Fidelity bond insurance


(d) Consequential loss insurance
17 Which one of the following forms of insurance is a compulsory form of insurance for a business with delivery vans?:


(a) Goods in transit insurance


(b) Bad debts insurance


(c) Motor insurance


(d) Plate glass insurance

18 Professional indemnity insurance covers:

(a) Claims against people in professional practices for negligence arising out of their professional work

(b) Claims by professional sports people against injuries that could result in them having to retire from that sport      


(c) Claims, by professional acting companies, for loss of profits due a temporary closure of its theatre


(d) Claims for injuries suffered by the employees arising from their employment

19 Home-comforts Ltd fully insured its factory, worth €100,000 with THREE insurance companies, i.e. Company “A”, Company “B”, Company “C”. A fire occurred in the factory causing €60,000 worth of damage. Company “C” will have to pay Home-comforts Ltd:


(a) €30,000


(b) €60,000


(c) €90,000


(d) €20,000

20 We-Fix-It Ltd insured its factory, (worth €100,000) for €80,000 with FOUR insurance companies, i.e. Company “A”, Company “B”, Company “C” and Company “D”. A fire occurred in the factory causing €20,000 worth of damage. Company “D” will have to pay We-Fix-It Ltd:


(a) €32,000


(b) €16,000


(c) €8,000


(d) €4,000
21 Goods that society considers should be available to everybody at some minimum quantity, regardless of income are known as:


(a) Free goods


(b) Merit goods


(c) Benefits- in-kind


(d) Surplus goods

22 Capital goods that do not directly produce goods and services but are necessary for the efficient production of other goods to take place are known as:


(a) Idle goods


(b) Raw materials


(c) The infrastructure of an economy


(d) Complementary goods

23. Government current expenditure is spending by the government on:


(a) Electricity


(b) Fruit cakes


(c) The creation of power from the sea


(d) On the provision of goods and services that will be totally consume in that 
year.
24 A Corporation tax is:

(a) A tax levied (placed) by the local county council


(b) A tax levied on savings


(c) A tax levied on profits made by companies


(d) A tax levied on the income received by local country councils

25 A Capital gains tax is:


(a) A tax on all profits made in Dublin


(b) A tax on interest made on savings


(c) A tax on profits made from the sale of assets


(d) A tax on the value of property inherited by a person.

26 CAT stands for:


(a) Capital Acquisitions Tax

(b) Current Acquisitions Tax

(c) Capital Applied Tax

(d) Capital Associated Tax
27 PAYE is a tax on:

(a) Employers salary 

(b) Employees wages and salary

(c) Owners of private property

(d) Employees savings

28 PRSI stands for:


(a) Pay Related Social Interest

(b) Pay Related Social Insurance


(c) Pay Retained Social Insurance


(d) Prepaid Related Social Insurance

29 USC stands for:


(a) Universal Social Change

(b) United Social Charge

(c) Universal Savings Charge

(d) Universal Social Charge
30 Which of the following applies to VAT:


(a) A tax on the sale and provision of goods and services


(b) An indirect tax on spending


(c) A rate of 23% applies to goods and some services


(d) All the above

31 What is a tax credit:


(a) An addition to your tax provided by the revenue


(b) A reduction in your net tax based on your personal circumstances


(c) A bill of your final tax owed to the government

(d) An increase in the amount of tax you must pay to revenue
32 Which of the following is the odd one out:


(a) TV Licence

(b) Property Tax

(c) Motor Vehicle Tax

(d) Customs Duties
33 Customs duties are taxes on imports from:

a) Non-EU countries

b) Countries within the EU

c) Countries with different customs

d) UK and its dominions

34 Excise duties are taxes on:

a) Alcohol, petrol, diesel and cigarettes
b) Fresh fruit imports

c) Sugary drinks

d) Tinned food and meat imports

35 Ireland has a Sugar Tax on soft drinks:

a) True

b) False

36 Which two apply to Commercial Rates:

a) A tax on the property owned by a business

b) Collected by local authorities like Waterford City Council

c) Are taxed on profits of a business

d) Are charged by the government throughout Ireland

37 Which two taxes would be most affected by a decrease in consumer spending:

a) VAT
b) Property taxes
c) PAYE
d) Motor Tax

38 Which two taxes would be most affected by an increase in car sales:

a) USC
b) PAYE
c) Excise taxes
d) Motor Tax

39 Without taxes, society has no common goal and collective action is impossible.
a) True
b) False
40  A Government decision to demand APPLE Inc. pay its full tax bill to the people of Ireland would involve what tax:

a) Capital Gains Tax
b) PRSI
c) Income Tax
d) Corporation Tax
41.

Tick the correct box:

	
	Entrepreneur
	Manager

	Creates an enterprise, by taking financial risk in order to get profit.
	
	

	Takes the responsibility of controlling and administering the organization
	
	

	Focus is on ongoing operations
	
	

	Focus is on start-up and accessing funds, grants etc
	
	

	Primary motivation is on power and control
	
	

	Primary motivation is on achievement
	
	

	Driving force is creativity and innovation
	
	

	This person is risk averse
	
	

	Works in return for a salary
	
	


42.

State and briefly explain three types of leadership in business (16m)

	Autocratic



	Democratic



	Laisse Faire




43.


Chart and clearly label Maslows Heirarchy of Needs below:


[image: image1]
44.
Draft and label a matrix structure for an organisation having two project teams:
	


45.
Match the terms with explanations below. One term does not match.

	Term
	Explanation

	1. Agenda
	a. The reduction in the number of layers in the management structure of an organisation

	2. Assurance
	b. manager believes in controlling the workforce by giving orders and closely supervising the workers to ensure the work is done

	3. Appraisal
	c. The details of business to be transacted at a meeting

	4. De-layering
	d. Protection against an event that will happen

	5. Autocratic
	e. refers to the way in which a manager tries to lead the organisation towards attaining its goals

	
	f. A review of an employee’s job performance


	1
	2
	3
	4
	5

	
	
	
	
	


46.
Describe McGregors theory X and theory Y of motivation. Do you believe it is relevant in todays business world? (10m)

	


47.
Which leadership style is this? (6m)

	
	Autocratic
	Democratic


	Laissez-faire

	Gives you the keys to the business saying “take care of things – you’ll be grand”


	
	
	

	Holds regular staff meetings to discuss plans but ignores staff opinions


	
	
	

	Encourages suggestions and ideas and implements good ones


	
	
	

	Doesn’t trust anyone – makes all decisions


	
	
	

	Asks for a progress report from teams each month and lets them get on with the job


	
	
	

	Discusses with superiors and subordinates before making decisions


	
	
	


48.
Intrapreneurs are employees who come up with ideas and new ways of doing things:

	(a). Within an organizaton



	

	(b). Outside the business


	

	(c). Without the business


	

	(d). With outside help


	


49.
What level in Maslows Hierarchy of Needs??:

	
	Level on Maslows Hierarchy of Needs

	Providing family-friendly working time
	

	Luxury company cars
	

	Basic salary
	

	Pensions for staff on retirement
	

	Free employee medical insurance
	

	Company sports activities and company Christmas party
	

	Interesting and fulfilling work
	

	Prestigious job titles
	

	Lunch breaks
	

	Providing overtime pay
	


50.
Match up the following terms with the correct sentences:

(A) Risk Neutral
(B) Risk Avoiders
(C) Risk Acceptors

	People who will not take any risks, even if the odds are strongly in their favour.
	

	People who will take risks even if chances of success are slim.
	

	People who will only take risks if the probability of success is reasonably high.
	


51. Match the terms with the explanations.

	Terms
	Explanations

	1
	Chain of Command
	A
	Divides the business into different depts. According to the manamgent functions of marketing, operations, human resources and finance

	2
	Strategic plan
	B
	Detailed plans covering short time periods

	3
	Organizing
	C
	Special plans to cope with emergencies

	4
	Functional structure
	D
	Giving authority and responsibility for carrying out work to subordinates

	5
	Planning
	E
	Bringing people and resources together to achieve common objective

	6
	Matrix structure
	F
	Long term plan for the whole business

	7
	Delegating
	G
	Mgt. skill of setting out goals for the organization and the strategy to achieve them

	8
	Quality control
	H
	The number of people reporting directly to a manager

	9
	Credit control
	I
	The monitoring and checking of results to see that plans are being achieved 

	10
	Contingency plan
	J
	When an organization is structured according to location such as Coca Cola’s Asia division, North American division, European division 

	11
	Tactical plan
	K
	When decisions flow from the top of an organization down through the layers to bottom

	12
	Geographic structure
	L
	A type of stock control designed to minimize the cost of holding large amounts of stock

	13
	JIT
	M
	An org. structure where staff are brought together into teams to achieve the clearly state team goals

	14
	Management Control
	N
	Monitoring how much credit customers are given and ensuring they pay on time

	15
	Span of Control
	O
	Ensuring quality standards meet customers expectations


	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


52
The relationship between management and workers in a firm is known as:


(a) Industrial relations


(b) Industrial disputes


(c) Trade unionism


(d) Trade negotiations

53
A body representing most trade unions in Ireland is known as:


(a) IBEC


(b) ICTU


(c) LRC


(d) FCA
1. When a person works with the opposing parties in a dispute with the aim of helping them to reach an agreement the process is known as:


(a) Contrition


(b) Contribution


(c) Conciliation


(d) Conflagration
2. The process of resolving disputes by referring the issue to a third party who makes a judgment on the dispute is known as:


(a) Arbitration


(b) Alteration


(c) Alliteration


(d) Alienation
3. An independent body that deals with disputes where employees think their employment rights have been infringed is called:

a. The Workplace Relations Commission

b. The Employment Appeals Tribunal

c. The Labour Court

d. The Equality Board

4. A representative body that promotes the interests of businesses and employers in Ireland is known as:

a. SIPTU

b. ASTI

c. IBEC

d. ICTU

5. A type of court used to attempt to resolve disputes is known as:

a. The Rights Commissioners

b. The Arbitration Tribunal

c. The Conciliation Tribunal

d. The Labour Court

6. HRM stands for:

a. Head of Resource Management

b. Human Resource Marketer

c. Human Resource Management

d. Human Rights Manager

7. What are the five stages of Team Development

	

	

	

	

	


8. Human Resource management refers to the :

a) all managerial activities.

b) concepts and techniques used in leading people at work.

c) concepts and techniques for organizing work activities.

d) management techniques for controlling people at work.

e) the management of people in organizations.

9. The knowledge, education, training and skills of a firms workers is known as:

a) Physical capital

b) Human capital

c) Production capital

d) Cultural diversity

63.
Which two below would a good HR manager look out for, to identify if a poor industrial climate exists in an Organisation:

a) Many labour/work days are lost through sickness.

b) Good morale in the company

c) No evidence of teamwork and staff are inflexible

d) Customers receive a high level of quality and sales are strong
64. Which of the following are used by HR to keep workers happy and minimize union interference:
a) Better pay and conditions

b) Shift allowances

c) Overtime rates

d) Profit sharing schemes

e) All the above

65. Human Resource Management is important in today’s business world because (pick two):

a) Working nine to five is no longer suitable in today’s dynamic business world. Many companies require employees to do shift-work, and so workers must be looked after and paid well.

b) Globalisation and technology means workers can work from home.

c) Pressures on world markets and fierce competition, means that firms cannot afford lost time and resources caused by industrial relations disputes.

d) Products have short life cycles and therefore companies DO NOT need employees to come up with ideas for new products.

